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ia Look at the radical.
-8\ 726

What is a rewritten form of the radical?

C. -086.6
/\
Jiare Vo

D. -2,904
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2a Look at the expression.

2@% @ \f?d

Which of these is equivalent to this expression?

B. 5
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3a Which sum is rational?

. T+ 18 T+ R=1= N
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4. a Which product is irrational?

A Npevso VTR IO e
B. ”f@-ﬂx@ lﬂ{ﬁ 5 ‘/’li’:r? L7 = R
C. V9 e /49 (// 3 ¥7®
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1ba rectangle has a length of 12 meters and a width of 400 centimeters. What is
the perimeter, in cm, of the rectangle?
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2D Jilt swam 200 meters in 2 minutes 42 seconds. If each lap is 50 meters long,
which is MOST LIKELY to be her time, in seconds, per lap?

37 seconds
Fy } D - n
| 40 seconds «% deqmz_ Aﬂm)qfe_, -ﬁ;. Je(,a,\,/{;é
C. 48 seconds
D. 80 seconds

R ain = [0 seconds
Y2sec —> 12 Seconss

J 62 secondks
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1c What is the product of 7x - 4 and 8x + 57

A, 1hx+ 1
B. 30x+2
T 56x 4+ 3x - 20
D. BBy - 32x + 20 | ?_\x\
(7L Brte)
Gox® 35 R 325" 2
SGXQ“+BX’”°?D
0 x ~Y
8)( g/j’/m
+5 35 20 7 x ~Y
x4 3220 w
3sx —&0
Clox> - 3y 0
gbyQ +3x - ab
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2¢c A model of a house is shown.

(9)[/‘{ {1} -

[;,d') ST

What is the perimeter, in units, of the model?

A, 32x 4+ 17 units

A6x + 25 units
50x + 11 unitg

D. 6dx + 24 units
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3c Which expression has the same value as the expression
(8x? + 2x — 6) - (5x° - 3x + 2)7
A. 3xi-x-4

e — b o
L X
&y
....5)(2"‘ ‘__"37( ..:.-v-—%——-‘"‘*
3> 7 >x ~°



EOC Practice 1.notebook Aprit 25, 2017

1d This equation can be used to find h, the number of hours it will take Flo and
Bryan to mow their lawn.

How many hours will it take them to mow their lawn?

A. G hours
B. 3 hours
C. 2 hours & wawz\ @fﬂom’n»}‘/f*f
D. L hour

h

noho
h}% :5+L9//

oh , h =
(o P)
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2d A ferry boat carries passengers back and forth between two communities on the
Peachville River.

» It takes 20 minutes longer for the ferry to make the trip upstream than
downstream,
+ The ferry's average speed in still water is 15 miles per hour.

«  The river's current is usually 5 miles per hour.

This equation can be used to determine how many miles apart the two

communities are.
m i

15-5 1b+5

+0.5

What is m, the distance between the two communities?

A, 05 mile
5 mijes

miles k 5,‘,.,9].‘% J’L«ﬁ/ (/{erwm,‘naolvrd &

e
D, 15 miles
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3d For what values of x is the inequality % + -g- > 1 true?

A, x =1
B 1 -1 § Alreass hes Compn Aeomint ¥
C. x«bh
D. x> 5 )(
.S
<t 4 >/

12



EOC Practice 1.notebook

44 Look at the steps used when solving 3(x ~ 2} = 3 for x.

Jix - 2)=3 Write the orlginal equation,
W-E=3 Use the Distributive Property.
Kx-8+0=3+0 Step 4
Ix =9 Step 2
3¢9 Step 3
3 3
x=3 Step 4

Which step is the result of combining like terms?

Sten { g e
A “’Zé Shep the  pesolt s> als
C. Step 3 — bt o~ e Irl

D, Step 4

slef 7
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1€ Two lines are graphed on this coordinate plane.

Which pomt appears to be a soiution of the equations of both lines?

A, 10, -2)

B 0.4 do flak He. orAere X &C)a;f
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2e Based on the tables, at what point dothe linesy = —x +5andy = 2x - 1
intersect?

: 2 (L2 5 ]
A (11
B. 3.5
2. 3) Qo
& T teset- ) e

{\r\ b O‘}'L\ ﬂL" b les

pr——r———
D=
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3e Look at the tables of values for two linear functions, f(x) and g{x).

P
&y

7 14 7 14

What is the solution to fix) = g(x)7
A
ﬁrseJ oA Q} Lon yfo ol lece L /0;, s e fv,()

s 2)
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4e Which ordered pairis asolution of 3y + 2 = 2x - 57

P$09 a"’/e ‘—Q}\ja

90 A) 3(&)—}9; 2(=8) =5

ra = /0%
g =~

Y B> 3(0)ep = ALS)9)
O+2= ~/o-5
2218

Ve ¢) 3yra =2
J+d = /05

S$= 5
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52 A manager is comparing the cost of buying baseball caps from two different
companies.

« Company X charges a $50 fee plus $7 per baseball cap.
« Company Y charges a $30 fee plus $9 per baseball cap.

For what number of baseball caps will the cost be the same at both companies?

> Y = Dx+S D

—

B. 20
g: _Lg?% (ﬂ = 9x 430
ol Dyt K0 = Tut 30
- - 30
Blug gk 20
s pIVET W+ 0= q’)ﬁ
~ )X -
. co=lao
@ }D>+ 5 VIS
)] O=X
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6e A shop sells one-pound bags of peanuts for $2 and three-pound bags of peanuts
for $5. If 9 bags are purchased for a totai cost of $38, how many three-pound
bags were purchased?

&

s 1 1h =X =3
= i“ﬁ) %;('01 3%:_5::(0

D. 18 3 I FJfES
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Ly y=
2x+ Sy = 30

(=5 ,;3.:[—“0.
\/:.:(0 =31
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7e Which graph 1epresents 3 system of linear equations that has muitiple cohunon
coordinate pairs? ’

moltple 15 Mo
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